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e SAMPLE PAPER
PERIODIC TEST — | SESSION 2025 - 26
CLASS -V
TIME : 1 hr.: 30 min. SUBJECT — MATHEMATICS M.M =40
A. Choose the correct option. (Do any six) (6x1=6)
1. The Roman numeral for65is
(i) VIV (i) LXV (ii) XLVIX (iv) XXXXXXV
2. The smallest 3 -digit numberis
(i) 333 (ii) 999 (iii) 100 (iv) 300
3. 114234 -114234=__
(i) 0 (ii) 1 (iii) 2,28,468 (iv) 1,14,234
4. The face value of 4in 24,352is __
(i) 4 (ii) 400 (iii) 4000 (iv) 40

5. What is the difference of the greatest 5-digit number and the smallest 6-digit number ?
()0 (i) 9 (iii) 1 (iv) 10
6. Which of the following is the greatest ?

(i) 123410 (i) 123425 (iii) 123517 (iv) 123620
7. The predecessor of a numberis 1 ____ the number .
(i) less than (ii) greater than (iii) equal to (iv) more than
B. Fill in the blanks.(Do any eight) (8x1=8)

1. Write the number for 70,000 +5000+60 =

2. V0LandDarenever

3. When we subtract two numbers the answer is called the
4, 98233-_  =098,2327

5 XXll+V=___

6. The successorof 3,47,199is ._

7. Write the number in figures in Indian place value system:
8. Nine lakh eleven thousand six hundred two

9. The place value of 5 in the number 3,56,735is ___

10. The number represented by the blocks is _




C. Solve the questions.( Do any seven ) (7x2=14)
1. Write the number as shown on the abacus.

Write the smallest and the greatest 6-digit number using the digits 1,3,0,5,7,6 each only once .
Mrs Khanna has 8,28 ,050 in her bank account .She spends %4,17,050 to buy a new car .How
much money is left in her bank account ?

Find the sum of 5,12,345 and 2,37,659 .

Round off to nearest 100:

(i) 1185 (i) 7171

Write in descending order:

72,059 72,509 72,590 72,950

7. Write the Hindu -Arabic numeral for LXXXVII|
8. Write the number name for 187819 in the Indian place value system after marking commas.

D. Solve the questions.(Do any four) (4x3=12)
1. Find the difference between the place value and face value of 6 in 526521.

2.

Red

Fill the correct sign >,< or = in the box:

() 5,28,179 ___ 4,28,179

(i)1,22,115 1,23,115

Simplify : 2,51,743 +6,21,301 — 1,19,254

A factory manufactured 52,584 locks in year 2022 and 37,846 locks in the year 2023. How many
locks did the factory manufacture in two years ?

Write the numbers in figures in Indian place value systems :

(i) Six lakh seventy -two thousand six hundred sixteen

(i) Seven lakh twenty -five thousand six hundred two

A number exceeds 8,76,543 by 12,345. What is the number ?



